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202 o4 H| 6,000 6,000 0
01 2L I 6,000 6,000 0
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11 A EXAIEE X 2,160 0 2,160
OFeEHI2AXA 180,000 x12& 2,160
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09 HAIAHIBEAZ 11,400 11,460 A 60
O&= XNMEOHS MU ZIt
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O3Y Jlsdolta &It 60,000 x15H 900
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OHFOMOIe & siA & SXNSHUE XA
20,000,000& *13l 20,000
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1A EXAIEE X 98,064 0 98,064
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1,442,000 x12& 17,304
O&feI=2=Ee 244 XNI& 6,730,000 ~12& 80,760
EHHEARY 60,000 58,000 2,000
307 2I2t0| & 60,000 58,000 2,000
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OEMHOHEA 29 22|
30,000,000 =2CH 60,000
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201 et 5,900 5,900 0
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= 166,938
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O & 2ALSl &0 =HH 28,080 28,760 A 680
201 L2l 2,320 1,800 520
02 =224l 2,320 1,800 520
OHEXASAMAY S22 110,000& 128 1,320
OUAETASAIA 228 2L (ItA )
1,000, 000& 1,000
301 et A3z 8,460 8,460 0
09 AL HIZB A S 8,460 8,460 0
OWAdEHE =+ & BEx1=] 60,0008 *25% 1,500
O&=20LHal &It 60,000& x20H 1,200
Ok Hy=F2eA S g2 AL FOt
60,000 x20H 1,200
o4& s2d2tegsl &It 60,0003 6 360
OMAS St22ItE W=s&I 60,0008 10 600
OWEXNEZA sMdEAd s Ot
60,000& x20H 1,200
Ou&doAalNs(2IHY, SHES, 858 5)
60,000& x20H 1,200
OU==IIE HE2&E02UX W=
60,000& x20H 1,200
307 glz2+ol & 12,000 17,000 25,000
11T MISRASEX 12,000 0 12,000
Od=2t JISHA XI& 6,000,000& =13l 6,000
O4dlIssFzsns ZARXE
600,000& 1001 & 6,000
401 AIEHI L 20 4,500 0 4,500
01 A& Bl 4,500 0 4,500
OWLXASAtA HETH WAl
4,500, 0003 *14] 4,500
405 Xt&tE SHI 800 1,500 A 700
01 et EFH S 800 1,500 A 700
OW&XaSAY I8 ¢ 800
—JtAd X =CIth 800,000 1Al 800
e F2HALS X & 5,500 5,500 0
< 2,200
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SN FUMEXE A
M EsNLYLMASEXNE (MIISEX/ES - IHBL0HY)
S HEAAFHHEUAHBINES S (&)
4 14
SN EE B (BH) - HRAY - BES 0l &F 24 e Hl D= 2t
o 3,300
307 21201 A 5,500 5,500 0
< 2,200
s 3,300
1A =SXIAMEE X 5,500 0 5,500
OEHIEXZAY 5,500
—HEFUHAXR 5,500,000& x13l 5,500
< 2,200
e 3,300
SZSA LK LI o AHKI & 7,200 7,200 0
J| 3,600
< 1,800
i 1,800
201 LB-2E | 7,200 0 7,200
J| 3,600
= 1,800
s 1,800
01 At 22l 7,200 0 7,200
OJlsExAY 7,200
—OtSOHAE XA 2GALY
7,200,000& x 14! 7,200
J| 3,600
< 1,800
[ia 1,800
OtSHEHE RIS AHE LAY 1,370 2,328 A958
= 685
[ia 685
307 21201 A 1,370 2,328 A 958
= 685
s 685
11T AL S XA E = 1,370 0 1,370
O=HIEXZ AL 1,370
—OlSHEXEZ M (200 ) 1,370,000& 1,370
= 685
[ia 685
SHMHHESEZ2E ALY 5,000 5,000 0
< 1,500
e 3,500
307 21201 A 5,000 5,000 0
< 1,500
i 3,500
11 AISI S XA E X 5,000 0 5,000
OEHIEXZAY 5,000
—HO0H =" 22 XA
5,000,000 5,000
S 1,500
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SH: FOIMBIHA
HM: HAHASSHINLUANMASEXNR (MIEXN/EE - I=ELHAY)
e A EHENAANIIER S (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| = 3,500
AZAT LI off KX (XA 1,000 0 1,000
201 LBt | 1,000 0 1,000
01 AP 22| d| 1,000 0 1,000
OH8IZ - SN0 - S22 - JIZ= oS
250,000 x4= 1,000
SFERIJIENEHSSH EXNH 48,700 40,850 7,850
J| 38,960
& 4,870
= 4,870
301 LBt A= 48,700 40,850 7,850
J| 38,960
= 4,870
= 4,870
01 AR E & A 462 48,700 40,850 7,850
OJIzEx=AY 48,700
—SERIE U L=SH S KR (89YH)
48,700,000 48,700
J| 38,960
& 4,870
= 4,870
SIERIIIESANEH N FH XA 8,408 8,408 0
&< 2,523
= 5,885
301 Lpte &3 8,408 8,408 0
= 2,523
= 5,885
01 Al E& A 46 2 8,408 8,408 0
OEHEXZANY 8,408
—SEPIIEXE W & 8,408,000 8,408
& 2,523
= 5,885
HASSEIINHAXNKA(ZH|) 51,600 51,600 0
& 15,480
= 36,120
301 et A= 51,600 51,600 0
& 15,480
= 36,120
01 Al B & A 462 51,600 51,600 0
OZHEXZANY 51,600
~HAS S#220= AASY|
500,000& x2H 1,000
o= 300
= 700
~HAS BEQIIE MBIYUD
3,000,000 *2 Al CH 6,000
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SN FUMEXE A
M EsNLYLMASEXNE (MIISEX/ES - IHBL0HY)
S HEAAFHHEUAHBINES S (&)
o
SN EE B (BH) - HRAY - BES e Hl D= 2t
307 glz2tol & 239,800 280,460 A 40,660
J| 167,860
< 21,582
s 50,358
10 ALSISXAIEHE2GH EX 239,800 280,460 240,660
OJlsEXAY 239,800
—UENESXNKHEH 2SN
239,800,000 » 10 & 239,800
J| 167,860
< 21,582
s 50,358
C2atss=200= 22,262 0 22,262
J| 15,583
< 2,004
s 4,675
307 21201 A 22,262 0 22,262
J| 15,583
< 2,004
s 4,675
1TASISXIAFE E & 22,262 0 22,262
OJI=EZAY 22,262
—U=238ts e=20u= 22,262,000 22,262
J| 15,583
< 2,004
[ia 4,675
CGNFAHEAALE X 29,456 29,456 0
J| 20,619
< 2,651
s 6,186
307 21201 A 29,456 29,456 0
J| 20,619
< 2,651
[ia 6,186
A= XALS 2 = 29,456 0 29,456
OJI=EZAY 29,456
—U28sTH AL
29,456,000& x1H 29,456
J| 20,619
< 2,651
s 6,186
ZE0I8XNSHANEIAA 16,182 15,890 292
J| 11,327
< 1,456
s 3,399
307 gl2tol & 16,182 15,890 292
J| 11,327
< 1,456
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SN FUMEXE A
M EsNLYLMASEXNE (MIISEX/ES - IHBL0HY)
S HEAAFHHEUAHBINES S (&)
o
SN EE B (BH) - HRAY - BES 0l &F 24 e Hl D= 2t
o 3,399
11 AISI S XA E X 16,182 0 16,182
OJIsEx=Ad 16,182
—ZS012X SHE MHIAXA
16, 182,000& * 14! 16,182
Jl| 11,327
= 1,456
s 3,399
CE2stts X2 (&) 60,000 48,000 12,000
< 24,080
s 35,920
307 2201 A 60,000 48,000 12,000
< 24,080
s 35,920
11 ALS S XALEE = 60,000 0 60,000
OEHIEXZAY 60,000
—U2=X2HE SAL =2(49)
10,400, 000& 10,400
= 5,200
[ 5,200
—HdZ=018 A U2 EXNAMdEH QE M
g XA 12,000,000& »1H 12,000
< 3,600
[ 8,400
—HEZE0IUX ALY 2 AL (6Y)
12,600, 000& 12,600
< 3,780
i 8,820
— U2 EXNHEH E=AH X3
20,000, 000& 20,000
< 10,000
[ia 10,000
—EZE012X & HEL(100Z)
5,000,000 5,000
< 1,500
[ia 3,500
CG23ts K& 29,000 29,000 0
307 glz2+ol & 29,000 29,000 0
04 QIZFHALAIH E = 4,000 0 4,000
OU=3aItE =223 HEHAM
4,000, 000& =13 4,000
11T MISRASEX 25,000 0 25,000
OclZUa Ha & HdZ2E018X IHF &
ch 20,000,000& x13l 20,000
OLEZ2E0I2UX HZOAHOIL 2AHA
20,000& »250H 5,000
ALINERNBHMH2E XA 85,656 83,950 1,706
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SH: FOIMBIHA
M EsNLYLMASEXNE (MIISEX/ES - IHBL0HY)
S HEAAFHHEUAHBINES S (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 42,828
< 12,848
e 29,980
307 21201 A 85,656 83,950 1,706
= 42,828
< 12,848
i 29,980
11 AISI S XA E X 85,656 0 85,656
O3HIEXZ ALY 85,656
— A2 EXNJAEAEHXF 85,656,000 104 & 85,656
= 42,828
< 12,848
[ia 29,980
OOl S sS K& At 280,853 302,851 A21,998
= 196,597
= 25,277
e 58,979
307 glz2+ol & 280,853 302,851 A21,998
= 196,597
< 25,277
e 58,979
11 ASISAAISEE = 280,853 0 280,853
O=HIEX= ALY 280,853
—OlOIESSXNEAAEZ 280,853,000& * 174 A 280,853
= 196,597
= 25,277
e 58,979
AN E LSRN AAS 11,000 11,000 0
< 3,300
i 7,700
307 i+l & 11,000 11,000 0
< 3,300
s 7,700
11 AISI S AAISEE = 11,000 0 11,000
OZHIEx= AL 11,000
—ALNPEHHANY N
11,000,000& =13l 11,000
< 3,300
[ia 7,700
AXNESHE(KHA) 23,700 25,500 A 1,800
201 et 700 700 0
01 At 221l 700 700 0
OU=3sItEs N3 &
70,000 x5H »23] 700
202 odl 3,000 4,800 A 1,800
01 = LH o4 1l 3,000 4,800 A 1,800
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SH: FOIMBIHA
M EsNLYLMASEXNE (MIISEX/ES - IHBL0HY)
el HEAMSFHUHAAAINE IS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUZsIE S &2 A XA
20,0003 *3H x50 3,000
301 et a = 20,000 20,000 0
01 MEIBZE 05z 20,000 20,000 0
OsES&2 HE0I=I F43H A&
5,000,000& x4 20,000
SEZAIMZEXNHA(ZHI) 12,000 12,000 0
< 3,600
s 8,400
301 et 8= 12,000 12,000 0
< 3,600
s 8,400
01 MEI2EZE+05l= 12,000 12,000 0
OZHIEx= AL 12,000
~sEE2 FHZE KNA(2Y)
12,000, 000& 12,000
< 3,600
[ia 8,400
RS 7,575,421 6,411,152 1,164,269
= 3,294,666
< 2,084,756
[ia 2,195,999
ESSsAMHIA 2,147,140 1,886,482 260,658
= 1,073,570
< 429,428
e 644,142
301 et a s 6,244 4,882 1,362
= 3,122
< 1,249
e 1,873
MIIEEES 6,244 4,882 1,362
O=HIEX AL 6,244
—OtOIAEY 222LIHZEH 29
6,244,000 6,244
= 3,122
< 1,249
s 1,873
307 gl2tol & 2,140,896 1,881,600 259,296
= 1,070,448
< 428,179
s 642,269
10 ALl SXNAIEEE2EHEX 2,140,896 1,881,600 259,296
OZHIEx= AL 2,140,896
—ESXA AHI(110¥)
2,140,896,000& 2,140,896
= 1,070,448
< 428,179
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307 clztol &
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el

FoMERAA
CESANLLNASEXR (AS
SN i

SN/ - HEL0HA)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
11T MISAASEX 6,000 0 6,000
OfZNeold &2l 500,000& »12& 6,000
ESUIAZREZ NI 132,000 48,651 83,349
= 66,000
< 26,400
s 39,600
307 21201 A 132,000 48,651 83,349
= 66,000
< 26,400
s 39,600
11T ASI S XAEE = 132,000 0 132,000
O=HIEXZ ALY 132,000
—ESINE 2RAMLHI(74Y)
132,000, 000& 132,000
= 66,000
< 26,400
e 39,600
LAY MM (XHH) 48,000 48,000 0
307 glz2tol & 48,000 48,000 0
11T M ZSXAISE EX 48,000 0 48,000
OB®uAA YR AH 48,000
— gzt 60,0003 *30H +12& 21,600
-—=- 38, g 20,0003 x110H 123 26,400
IROESIZ 676,660 661,020 15,640
201 L2l 1,540 1,540 0
01 At 22l 1,540 1,540 0
OBYT BSIUIAAY ALY
70,0003 *11H %23 1,540
202 O4dl 3,600 2,000 1,600
01 = LH 4 Hi 3,600 2,000 1,600
O0Eold & otsAld XIESEE ¢l
20,0003 «3H 60 3,600
301 L2 4= 578,280 578,280 0
01 MEIE2EZE+06l= 576,000 576,000 0
OZ0otL=Hl XA (APsCIIIAIR)
200,000& *240x12& 576,000
09 HALAHIEA S 2,280 2,280 0
OESnAA Bx0= 60,000 38 2,280
307 21201 A 93,240 79,200 14,040
04 QIZFHALAIH B = 9,000 9,000 0
O0egold gxrot |RXNE 24
3,000,000& x13l 3,000
O0egold gR0F st AL 3,000,000 *12] 3,000
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FolMERAA
HEsSHAMNLLNASEXNI(MIA=EXN/ES - IIEL0HY)
YRS EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OESurd ALRsaags 1S
3,000,000& x13l 3,000
11T AISI S XA E = 84,240 0 84,240
OOIRI0IT OIS Al X
3003 *900H »26 Y x 128 84,240
AR0BE2 XA (=) 1,125,931 257,447 868,484
= 1,122,922
i 3,009
307 g1+l & 1,125,931 257,447 868,484
< 1,122,922
s 3,009
11T AISISAASEE X 1,125,931 0 1,125,931
OZHIEx= AL 1,125,931
—HIEoorgtE BEE=(9 10,032, 000& 10,032
< 7,023
i 3,009
— QR3S el I E (170Y) 362,500,000& 362,500
= 362,500
— DHA~BAI =2l S (160Y) 753,399,000& 753,399
< 753,399
HELATHEAWBIOIEX A 10,560 10,560 0
= 5,280
< 2,112
s 3,168
307 glz2tol & 10,560 10,560 0
= 5,280
< 2,112
s 3,168
10 M3 SXNANEHI2IHES 10,560 10,560 0
O=3HIEXZ ALY 10,560
—SOEAT HOIORIOIT XIS (4MHA)
10,560, 000 10,560
= 5,280
< 2,112
[ia 3,168
OZI0IFOI0ISOISYS4+Y 836,672 0 836,672
= 543,837
= 117,134
s 175,701
301 L2 A Z 836,672 0 836,672
= 543,837
< 117,134
i 175,701
01 MEIBEE 263 836,672 0 836,672
O=HIEXZ AL 836,672
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SN FUMEXE A
Ha: GESANLUHLASSNA(MIZX/2S - IEL0HY)
e IRESXA (chel & 9l)
= - 4 14
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
—JIEYSSY N (1,2338)
836,672,000& 836,672
2 543,837
& 117,134
= 175,701
2200 &8N 86,366 86,366
= 43,183
& 17,273
= 25,910
307 2iztol A 86,366 86,366
= 43,183
& 17,273
= 25,910
10 MM SAANEEHESIGHEX 86,366 86, 366
OZHIEXZAY 86,366
— ZZS2I0EXH(4MA) 86,366,000 86,366
= 43,183
& 17,273
= 25,910
FWAEIALHLXIMA 63,750 63,750
= 19,275
2 44,475
307 2iz2tol & 63,750 63,750
= 19,275
2 44,475
11 AFSI = RIAY 2 & 63,750 63,750
OEHEZAY 63,750
— 20X HRIM&H (140H)
48,000,000 48,000
=} 14,400
= 33,600
—E=nNiIA AL2LH 50,0002 23] x150H 15,000
& 4,500
= 10,500
— WA AF @14 H|(5Y) 750,000 750
=} 375
= 375
2t 0| 2 HH A& 3,600 3,600
= 1,440
= 2,160
307 gizto| A 3,600 3,600
& 1,440
= 2,160
10 MM SAANEEHESIGHEX 3,600 3,600
OEHIEXZ ALY 3,600
—JIE 0 S0I& Hetd 24| (2009101 6F,300A)
1,200,000 1,200
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SEEEEEREEE RS
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